

Sum Formulas for Fibonacci Numbers

I. Guerrero-Moreno and J. López-Bonilla

ESIME-Zacatenco, Instituto Politécnico Nacional,
 Edif. 5, 1er. Piso, Col. Lindavista CP 07738, CDMX, México

Abstract: We give an elementary deduction of the sum formulas of the squares of terms obtained by Soykan for Fibonacci numbers.

Key words: Fibonacci numbers • d'Ocagne's identity • Soykan's formulas

INTRODUCTION

Soykan [1] obtained the following relations:

$$\sum_{k=1}^n k F_k^2 = \frac{1}{2} [1 + (3 + 2n)(F_{n+2} - F_{n+1})F_{n+1} - F_{n+2}^2], \quad (1)$$

$$\sum_{k=1}^n k F_{k+1}F_k = \frac{1}{2} [(1 + 2n)F_{k+2}^2 + (3 + 2n)F_{n+1}^2 - (5 + 2n)F_{n+2}F_{n+1} + 1], \quad (2)$$

involving the Fibonacci numbers [2-10] defined via the recurrence relation:

$$F_{n+1} = F_n + F_{n-1}, \quad F_0 = 0, \quad F_1 = 1, \quad n \geq 1, \quad (3)$$

thus $\{F_n\} = \{0, 1, 1, 2, 3, 5, 8, 13, \dots\}$, which can be generated with the expression [11]:

$$F_n = \frac{a^n - b^n}{a - b}, \quad a = \frac{1 + \sqrt{5}}{2}, \quad b = \frac{1 - \sqrt{5}}{2}, \quad (4)$$

that is:

$$a - b = \sqrt{5}, \quad a + b = 1, \quad ab = -1, \quad 1 - ab = 2, \quad a^2 - 1 = a, \quad b^2 - 1 = b. \quad (5)$$

On the other hand, from the geometric series of Gauss:

$$\sum_{k=1}^m k c^k = \frac{c}{(1-c)^2} [1 - (m+1)c^m + m c^{m+1}]. \quad (6)$$

From (4), $(a-b)^2 F_k^2 = a^{2k} - 2(ab)^k + b^{2k}$, then (6) allows obtain the relation:

$$(a-b)^2 \sum_{k=1}^n k F_k^2 = \frac{a^2}{(1-a^2)^2} [1 - (n+1)a^{2n} + n a^{2n+2}] + \frac{b^2}{(1-b^2)^2} [1 - (n+1)b^{2n} + n b^{2n+2}] - \frac{2ab}{(1-ab)^2} [1 - (n+1)(ab)^n + n(ab)^{n+1}]$$

where can be applied the values (5) to deduce the property:

$$\sum_{k=1}^n k F_k^2 = [n F_{n+2} - (n+1) F_n] F_n + \frac{1-(-1)^n}{2}, \quad (7)$$

which is alternative to (1); in the deduction of (7) it was used the d'Ocagne's identity [11]:

$$F_{n+1}^2 = F_n F_{n+2} + (-1)^n. \quad (8)$$

Similarly:

$$(a-b)^2 F_{k+2} F_k = a^{2k+1} + b^{2k+1} - (a+b)(ab)^k,$$

hence from (6):

$$(a-b)^2 \sum_{k=1}^n k F_{k+1} F_k = \frac{a^2}{(1-a^2)^2} [1 - (n+1)a^{2n} + n a^{2n+2}] + \frac{b^2}{(1-b^2)^2} [1 - (n+1)b^{2n} + n b^{2n+2}] - \frac{ab(a+b)}{(1-ab)^2} [1 - (n+1)(ab)^n + n(ab)^{n+1}],$$

which with the values (5) takes the final form:

$$\sum_{k=1}^n k F_{k+1} F_k = (n F_{n+2} - F_{n+1}) F_n + \frac{1-(-1)^n}{4} + \frac{n(-1)^n}{2}, \quad (9)$$

as an alternative for (2).

REFERENCES

1. Soykan, Y., 2020. Generalized Fibonacci numbers: Sum formulas of the squares of terms, Math LAB J., 5: 46-61.
2. Riordan, J., 1968. Combinatorial identities, John Wiley and Sons, New York (1968).
3. Hoggat, V.E., 1969. Fibonacci and Lucas numbers, Houghton Mifflin, Boston, MA, USA.
4. Dunlap, R.A., 1997. The golden ratio and Fibonacci numbers, World Scientific, Singapore (1997).
5. Koepf, W., 1998. Hypergeometric summation. An algorithmic approach to summation and special function identities, Vieweg, Braunschweig/Wiesbaden (1998).
6. Dilcher, K., 2000. Hypergeometric functions and Fibonacci numbers, Fibonacci Quart. 38(4): 342-363.
7. Falcón, S., 2007. A. Plaza, The k-Fibonacci sequence and the Pascal 2-triangle, Chaos, Solitons and Fractals, 33: 38-49.
8. Hannah, J.P., 2013. Identities for the gamma and hypergeometric functions: an overview from Euler to the present, Master of Science Thesis, Univ. of the Witwatersrand, Johannesburg, South Africa.
9. Lam-Estrada, P., J. López-Bonilla and R. López-Vázquez, 2015. Baldoni *et al* method for homogeneous linear recurrence relations, Proc. Int. Conf. on Special Functions & Applications, ICSFA 2015, 14th Annual Meeting of Soc. for Special Functions and their Applications, Amity University, Noida, Uttar Pradesh, India, 10-12 Sept. (2015) 6-10.
10. Barrera-Figueroa, V., I. Guerrero-Moreno, J. López-Bonilla and S. Vidal-Beltrán, 2018. Some applications of hypergeometric functions, Comput. Appl. Math. Sci., 3(2): 23-25.
11. <https://mathworld.wolfram.com/FibonacciNumber.html>